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gFjp I 

 rupahd tpilapd; fPo; NfhbLf. 

01. jpl;lkpl;l Kiwapy; tPl;Lj;Njhl;lk; mikg;gjdhy; fpilf;Fk; ed;ik my;yhjJ. 

1. eQ;rw;w kuf;fwpfs; fpilf;Fk; 

2. kdkfpo;r;rp FiwAk; 

3. clw;gapw;rp fpilf;Fk; 

4. Nghrhf;Fj; Njit G+u;j;jp nra;ag;gLk; 

02. kz;zPu;f; fhg;gpw;F nghUj;jkhd ePu;g;ghrd Kiw  

1. tuk;Grhy; ePu;g;ghrdk;   2. JspKiw ePu;g;ghrdk; 

3. tha;f;fhy; Kiw   4. Nkw;$wpa ahTk;    

03. G+r;rpfSf;F ntWg;G+l;Lk; gapuhf mikahjJ. 

1. nrt;te;jp  2. ky;ypif  3. ,Q;rp  4. Nriug;Gy; 

04. toq;Feu;fspdhy; Efu;Nthupd; Njitfs; tpUg;gq;fis epiwNtw;w Kbahj 

re;ju;g;gk; 

1. re;ij Ma;T    2. re;ijg; guprPyid  

3. re;ij ,ilntsp   4 tzpf eltbf;if  

05. NeubahfNt Njhl;lj;jpy; ehl;lf;$ba gapu;tif  

1. fj;jup> jf;fhsp    2. kpsfha;> fj;jup 

3. ntz;b> G+rzp    4. jf;fhsp> kpsfha; 

06. gapu;r;nra;if NfhGuk; mikf;fg; gad;gLj;jg;gLk; eLif Clfk;. 

1. Nky;kzp> fspkz;   2. Nky;kz;> $l;nlU   

3. $l;nlU kzy;kz;   4. kzy;kz;> Nky;kz; 

07. ru;tNjr tpahghukhdJ ,lk; ngWtJ. 

1. tpsk;gujhuh; Clhf   2. tiyaikg;gpD}lhf 

3. rpw;wsT tzpfq;fSlhf  4. re;ijfspD}lhf 

08. Nghfg;gapu; vd miof;fg;gLtJ. 

1. ePz;lfhyg;gapu;    2. FWq;fhyg;gapu; 

3. tPl;Lj;Njhl;lk;    4. Nkw;$wpa ahTk; 

09. tsq;fis tpidj;jpwdhfg; gad;gLj;jf;$ba capu;g;gy;tifik cila #ow; 

njhFjp gpd;tUtdtw;Ws; vJ? 

1. tzpfk;  2. epyk;  3. tPl;Lj;Njhl;lk; 4. czT 

Kjyhk; jtiz kjpg;gPl;Lg; guPl;ir - 2022 

aho;g;ghzk; ,e;Jf; fy;Y}up 

juk; - 8 

ngah; / Rl;nlz; .................................................................................. 

nrad;Kiwj; njhopDl;gj;jpwd; 

 

Neuk; :- 2 kzpj;jpahyk; 
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10. NfhGug; gapu;r;nra;ifapy; fPo;g;ghfj;jpy; ehl;Ltjw;Fg; nghUj;jkhd gapu; 

1. fj;jup  2. kpsfha;  3. gaw;iw  4. ahTk; rup 

11 – 15 tiuahd tpdhf;fSf;F rupahd tpilia njupT nra;J vOJf. 

tpdhfpup> itf;Nfhyhy; %Lgil ,Ljy;> muf;F> Ijurd; raidl;L> epoiy 

tpUk;Gk; gapu;fis ehl;Ljy; 

11. ePu;g;gw;whf;Fiwf;fhd jPu;thf ………………………. mikAk;. 

 

12. ntl;ba kuts;sp fpoq;if tspgLkhW itj;jhy; ……………………… 

cUthFk;. 

 
13. mr;rhW jahupf;fg; gad;gLj;jg;gLk; ew;fhg;Gg; nghUs; …………………….. 

MFk;. 

 
14. epyj;jpw;Fg; NghjpasT #upaxsp fpilf;fhikf;F ………………………jPu;thFk;. 

 
15. gyifapyhd nghUs;fSf;Fg; gpd;duhd kpDf;fp gjhu;j;jkhf …………………….. 

gad;gLj;jg;LfpwJ. 

16 – 20 tiuahd tpdhf;fSf;F rup gpio ,Lf 

16. kz;zupg;igj; jLf;f %Lgapu; tsu;f;fyhk;.   ( ) 

 

17. Rj;jkhd Mil mzpjy; czT jahupg;gtupd; MNuhf;fpaj;jpy; mlq;Fk;  

( ) 
18. gw;wPupah> gq;fR czT gOjiljypy; nry;thf;Fr; nrYj;Jk; ngsjPff; 

fhuzpahFk;.        ( ) 

19. ,lg;gw;whf;Fiw epyTk; gpuNjrq;fSf;F epiyf;Fj;Jg; gapu;r;nra;if 

cfe;jjhFk;.        ( ) 

20. tPl;L cgfuzq;fNshL cgfuzg;ghtid njhlu;ghd jfty;fis mwpa 

mwpTWj;jw;ifNaL toq;fg;gLfpwJ.    ( ) 

 (1 x 20 = 20 Gs;spfs;) 
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gFjp II 

Kjyhk; tpdh cl;gl %d;W tpdhf;fSf;F tpil jUf. 

(01) 1. Kjyhk; jtizapy; ePu; Nkw;nfhz;l nrad;Kiwr; nraw;ghL xd;wpidf;  

   Fwpg;gpLf. 

2. mr; nraw;ghl;bw;Fg; gad;gLj;jpa nghUl;fs;> fUtp cgfuzq;fis 

Fwpg;gpLf. 

3. mr;nraw;ghl;bd; NghJ Njhd;wpa gpur;rpidfs;> jilfisf; Fwpg;gpLf. 

4. mr; nraw;ghl;bw;F cjtp Gupe;jtu;fisf; Fwpg;gpLf. 

5. mr; nraw;ghl;bd; %yk; ngw;Wf;nfhz;l mDgtq;fisj; jUf. 

(2 + 2 + 2 + 2 + 2 = 10 Gs;spfs;) 

(02) 1. jpl;lkpl;l Kiwapy; tPl;Lj;Njhl;lk; mikg;gjhy; fpilf;Fk; gad;fs; 4  

   jUf? 

2. tPl;Lj;Njhl;lj;jpy; Vw;gLk; gPilj;jhf;fj;ijf; Fiwj;Jf;nfhs;s 

Nkw;nfhs;sf;$ba eltbf;iffs; 4 jUf? 

3. epiyf;Fj;Jg; gapu;r;nra;if Kiwfs; 2 jUf? 

(3+ 3+ 4  = 10 Gs;spfs;) 

 

(03) 1. gOjile;j czT vd;why; vd;d? 

2. czT gOjiljypy; nry;thf;Fr; nrYj;Jk; gpujhd fhuzpfs; vit? 

3. gOjile;j cztpy; fhzg;glj;jf;f ,ay;Gfs; 4 jUf? 

(3+ 3+ 4  = 10 Gs;spfs;) 

 

(04) 1. cuha;T ePf;fpahfg; gad;gLj;jf;$ba gjhu;j;jq;fs; 2 jUf? 

2. tPl;by; kpd; cgfuzq;fisg; gad;gLj;Jk; NghJ ftdj;jpw;nfhs;s 

Ntz;ba tplaq;fs; 4 jUf? 

3. Jtpr;rf;fu tz;b xd;wpd; glk; tiue;J ,aq;Fk; gFjpfisg; Fwpg;gpLf? 

(3+ 3+ 4  = 10 Gs;spfs;) 

 

(05) 1. tzpfk; vd;why; vd;d? 

2. re;ijnahd;W cs;slf;fpajhff; fhzg;gl Ntz;ba 3 tplaq;fSk; vit? 

3. tzpfnkhd;iw Muk;gpf;Fk; xUtu; #oy; Neakhfg; gpd;gw;wf;$ba 

eilKiwfs; 4 jUf. 

(3+ 3+ 4  = 10 Gs;spfs;) 

 


